### UTILITY REPLACEMENT W/RESURFACING ASSESSMENT

DISTRICT - 2013 (WALTER ST. & JOHNS ST.)

CONTRACT NO. 7042

		Capitol Under	around Inc	Speedway Sand & Gravel, Inc.	Parisi Constr. Co., Inc.
Item	Quantity	Price	Extension	Price	Price
	=======================================			=======================================	========
10701.0 - TRAFFIC CONTROL - LUMP SUM 10801.0 - ROOT CUTTING - CURB	\$1.00	\$3,900.00	\$3,900.00	\$8,500.00	\$1,000.00
AND GUTTER(UNDISTRIBUTED) - L.F. 10802.0 - ROOT CUTTING - SIDEWALK(UNDISTRIBUTED) -	\$75.00	\$9.60	\$720.00	\$3.00	\$12.25
L.F. 10911.0 - MOBILIZATION - LUMP	\$75.00	\$9.60	\$720.00	\$3.00	\$12.25
SUM	\$1.00	\$116,300.00	\$116,300.00	\$19,450.00	\$60,000.00
20101.0 - EXCAVATION CUT - C.Y.	\$655.00	\$13.00	\$8,515.00	\$12.00	\$14.25
20219.0 - BREAKER RUN - TON	\$1,415.00	\$9.30	\$13,159.50	\$3.00	\$12.25
20221.0 - TOPSOIL - S.Y. 20303.0 - SAWCUT BITMINOUS PAVEMENT (UNDISTRIBUTED) -	\$325.00	\$8.00	\$2,600.00	\$3.18	\$2.90
L.F. 20323.0 - REMOVE CONCRETE	\$100.00	\$1.55	\$155.00	\$1.60	\$1.60
SIDEWALK & DRIVE - S.F. 20401.0 - CLEARING	\$550.00	\$0.96	\$528.00	\$1.50	\$2.00
(UNDISTRIBUTED) - I.D. 20403.0 - GRUBBING	\$15.00	\$15.00	\$225.00	\$25.00	\$100.00
(UNDISTRIBUTED) - I.D. 20701.0 - TERRACE SEEDING -	\$15.00	\$15.00	\$225.00	\$25.00	\$100.00
S.Y. 21061.0 - EROSION MATTING,	\$325.00	\$4.00	\$1,300.00	\$0.98	\$6.20
CLASS I, URBAN TYPE A - S.Y. 30302.0 - 7 INCH CONCRETE	\$325.00	\$6.00	\$1,950.00	\$1.51	\$6.20
SIDEWALK & DRIVE - S.F. 30340.0 - CURB RAMP DETECTABLE WARNING FIELD -	\$550.00	\$4.35	\$2,392.50	\$4.25	\$5.40
S.F. 40201.0 - HMA PAVEMENT, TYPE	\$80.00	\$25.00	\$2,000.00	\$30.00	\$41.25
E-0.3 - TON 40202.0 - HMA PAVEMENT, TYPE	\$435.00	\$58.60	\$25,491.00	\$58.63	\$59.00
E-1 - TON	\$870.00	\$55.60	\$48,372.00	\$55.60	\$61.00
40211.0 - TACK COAT - GAL 40231.0 - ASPHALT DRIVE &	\$160.00	\$2.50	\$400.00	\$2.50	\$2.00
TERRACE (UNDISTRIBUTED) - S.Y. 40311.0 - PULVERIZE AND SHAPE -	\$50.00	\$19.70	\$985.00	\$19.70	\$35.50
SY 40367.0 - ADJUST VALVE	\$5,605.00	\$1.45	\$8,127.25	\$0.65	\$1.90
CASTING METHOD #1 - EACH	\$12.00	\$210.00	\$2,520.00	\$225.00	\$240.00
40391.0 - REMOVE AND REPLACE 5" THICK CONCRETE SIDEWALK - RESURFACING - S.F.	\$4,000.00	\$5.65	\$22,600.00	\$6.40	\$8.40
20217.0 - CLEAR STONE - TON 21001.0 - EROSION CONTROL	\$4,000.00	\$5.65 \$12.90	\$5,160.00	\$9.00	\$8.40 \$16.75
PLAN & IMPLEMENTATION - LUMP SUM	\$1.00	\$1,080.00	\$1,080.00	\$700.00	\$520.00

CONTRACT NO. 7042

	Capitol Underground, Inc.			Speedway Sand & Gravel, Inc.	Parisi Constr. Co., Inc.
Item	Quantity	Price	Extension	Price	Price
	=======================================	=======================================			========
21002.0 - EROSION CONTROL INSPECTION - EACH	\$5.00	\$180.00	\$900.00	\$300.00	\$410.00
21011.0 - CONSTRUCTION ENTRANCE - EACH 21012.0 - STREET	\$4.00	\$210.00	\$840.00	\$125.00	\$120.00
CONSTRUCTION ENTRANCE BERM - EACH	\$2.00	\$480.00	\$960.00	\$100.00	\$180.00
21013.0 - STREET SWEEPING - LUMP SUM 21024.0 - SILT SOCK COMPLETE -	\$1.00	\$1,994.00	\$1,994.00	\$1,500.00	\$610.00
L.F. 21052.0 - POLYMER	\$45.00	\$8.00	\$360.00	\$6.00	\$3.10
STABILIZATION - S.Y. 21056.0 - INLET PROTECTION TYPE D HYBRID - PROVIDE &	\$2,500.00	\$0.45	\$1,125.00	\$0.50	\$0.50
INSTALL - EACH 21057.0 - INLET PROTECTION TYPE D HYBRID - MAINTAIN -	\$36.00	\$144.00	\$5,184.00	\$140.00	\$140.00
EACH	\$72.00	\$24.00	\$1,728.00	\$30.00	\$67.00
21058.0 - INLET PROTECTION TYPE D HYBRID - REMOVE - EACH 50411.0 - 12 INCH RCP STORM	\$36.00	\$24.00	\$864.00	\$30.00	\$25.75
SEWER PIPE - L.F.	\$410.00	\$50.00	\$20,500.00	\$40.00	\$55.00
50741.0 - TYPE H INLET - EACH 10702.0 - TRAFFIC CONTROL FOR STORM SEWER INSTALLATION -	\$14.00	\$1,274.00	\$17,836.00	\$1,400.00	\$2,300.00
LUMP SUM 10912.0 - MOBILIZATION FOR	\$1.00	\$1,500.00	\$1,500.00	\$600.00	\$1,000.00
STORM SEWER INSTALLATION - LUMP SUM	\$1.00	¢7 000 00	<b>\$7,000,00</b>	\$500.00	<b>\$2.500.00</b>
20313.0 - REMOVE INLET - EACH 20314.0 - REMOVE PIPE (STORM) -	\$1.00	\$7,800.00 \$332.00	\$7,800.00 \$3,652.00	\$300.00	\$2,500.00 \$490.00
L.F. 20332.0 - ABANDON CATCHBASIN -	\$108.00	\$10.80	\$1,166.40	\$15.00	\$18.00
EACH	\$1.00	\$228.00	\$228.00	\$300.00	\$490.00
20337.0 - PIPE PLUG STORM - EACH 20501.0 - ADJUST SEWER	\$6.00	\$345.00	\$2,070.00	\$250.00	\$120.00
ACCESS STRUCTURE (UNDISTRIBUTED) - EACH	\$1.00	\$186.00	\$186.00	\$350.00	\$300.00
20503.0 - ADJUST INLET - EACH	\$2.00	\$210.00	\$420.00	\$300.00	\$310.00
50211.0 - SELECT BACKFILL FOR STORM SEWER - T.F. 50414.0 - 21 INCH RCP STORM	\$832.00	\$0.10	\$83.20	\$0.10	\$1.00
SEWER PIPE - L.F. 50415.0 - 24 INCH RCP STORM	\$386.00	\$59.60	\$23,005.60	\$53.00	\$66.00
SEWER PIPE - L.F. 50417.0 - 30 INCH RCP STORM	\$36.00	\$62.00	\$2,232.00	\$56.00	\$120.00
SEWER PIPE - L.F. 50499.0 - CONCRETE COLLAR -	\$18.00	\$71.00	\$1,278.00	\$67.00	\$100.00
EACH	\$1.00	\$458.00	\$458.00	\$375.00	\$410.00
50723.0 - 3'X3' STORM SAS - EACH	\$5.00	\$2,139.00	\$10,695.00	\$2,000.00	\$3,200.00

CONTRACT NO. 7042

		Capitol Under	ground, Inc.	Speedway Sand & Gravel, Inc.	Parisi Constr. Co., Inc.
Item	Quantity	Price	Extension	Price	Price
======================================		=======================================		=======================================	========
EACH	\$12.00	\$474.00	\$5,688.00	\$700.00	\$1,000.00
50801.0 - UTILITY LINE OPENING -	•	•	*-,	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
EACH	\$10.00	\$480.00	\$4,800.00	\$400.00	\$630.00
10704.0 - TRAFFIC CONTROL FOR SANITARY SEWER					
CONSTRUCTION - LUMP SUM	\$1.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
10790.0 - RAILROAD INSURANCE -	ψσ	ψ.,σσσ.σσ	ψ.,σσσ.σσ	ψ.,σσσ.σσ	Ψ.,σσσ.σσ
LUMP SUM	\$1.00	\$1,740.00	\$1,740.00	\$2,200.00	\$5,300.00
10914.0 - MOBILIZATION FOR					
SANITARY SEWER CONSTRUCTION - LUMP SUM	\$1.00	\$30,100.00	\$30,100.00	\$3,000.00	\$60,000.00
20311.0 - REMOVE SEWER	Ψ1.00	ψ50,100.00	ψ30,100.00	ψ5,000.00	φου,σου.σο
ACCESS STRUCTURE - EACH	\$7.00	\$468.00	\$3,276.00	\$400.00	\$480.00
20315.0 - REMOVE PIPE				•	
(SANITARY) - L.F. 20331.0 - ABANDON SEWER	\$50.00	\$1.00	\$50.00	\$25.00	\$18.00
ACCESS STRUCTURE - EACH	\$1.00	\$338.00	\$338.00	\$350.00	\$490.00
20336.0 - PLUG PIPE- SANITARY -	*****	*******	<b>,</b>	<b>*</b>	*
EACH	\$25.00	\$12.00	\$300.00	\$150.00	\$120.00
50103.0 - RECONSTRUCT BENCH	<b>#2.00</b>	¢4 425 00	<b>\$2.250.00</b>	¢4 250 00	<b>\$000.00</b>
& FLOWLINES - EACH 50212.0 - SELECT FILL FOR	\$2.00	\$1,125.00	\$2,250.00	\$1,250.00	\$980.00
SANITARY SEWER MAIN - T.F.	\$2,090.00	\$0.10	\$209.00	\$0.10	\$1.00
50226.0 - UTILITY TRENCH PATCH					
TYPE III(HARGROVE & HARDING) -	<b>#</b> 000 00	<b>#00.70</b>	<b>#0.405.40</b>	Ф00.00	<b>#</b> 00.00
S.Y. 50301.0 - 8" PVC SANITARY	\$283.00	\$29.70	\$8,405.10	\$22.00	\$30.00
SEWER PIPE SDR-35 - L.F.	\$193.00	\$52.70	\$10,171.10	\$97.00	\$135.00
50302.0 - 10" PVC SANITARY					
SEWER PIPE SDR-26 - L.F.	\$37.00	\$67.00	\$2,479.00	\$105.00	\$130.00
50303.0 - 12" PVC SANITARY SEWER PIPE SDR-35 - L.F.	\$20.00	\$68.00	\$1,360.00	\$110.00	\$120.00
50304.0 - 15" PVC SANITARY	φ20.00	φ06.00	φ1,300.00	φ110.00	\$120.00
SEWER PIPE SDR-35 & SDR-26 -					
L.F.	\$1,079.00	\$81.00	\$87,399.00	\$131.00	\$150.00
50305.0 - 18" PVC SANITARY SEWER PIPE SDR-26 - L.F.	¢160.00	¢121.00	¢20,440,00	¢402.00	¢170.00
50316.0 - 21" PVC SANITARY	\$169.00	\$121.00	\$20,449.00	\$193.00	\$170.00
SEWER PIPE SDR-26 - L.F.	\$133.00	\$119.00	\$15,827.00	\$219.00	\$185.00
50322.0 - 10" PVC PRESSURE					
SANITARY SEWER PIPE - L.F. 50353.0 - SANITARY SEWER	\$115.00	\$82.00	\$9,430.00	\$106.00	\$160.00
LATERAL SDR-35 & SDR 26 - L.F.	\$344.00	\$28.00	\$9,632.00	\$51.00	\$40.00
50354.0 - RECONNECT SANITARY	φο τ τ.σσ	Ψ20.00	ψο,σοΣ.σσ	ψο1.00	ψ10.00
LATERAL - EACH	\$14.00	\$797.00	\$11,158.00	\$1,400.00	\$1,900.00
50361.0 - WASTEWATER	<b>#</b> 4.00	<b>044400</b>	<b>#</b> 444.00	<b>\$500.00</b>	<b>#</b> 44 000 00
CONTROL - LUMP SUM 50390.0 - SEWER ELECTRONIC	\$1.00	\$414.00	\$414.00	\$500.00	\$11,300.00
MARKERS - EACH	\$28.00	\$15.00	\$420.00	\$30.00	\$42.75
50701.0 - FOUR FOOT DIAMETER					
SAS - EACH	\$12.00	\$2,829.00	\$33,948.00	\$2,900.00	\$4,600.00
50702.0 - FIVE FOOT DIAMETER SAS - EACH	\$1.00	\$5,339.00	\$5,339.00	\$4,200.00	\$7,400.00
ONO - LAOIT	φ1.00	ψυ,υυσ.υυ	ψυ,υυσ.υυ	ψ <del>-1</del> ,200.00	Ψ1,400.00

CONTRACT NO. 7042

		Capitol Under	ground Inc	Speedway Sand & Gravel, Inc.	Parisi Constr. Co., Inc.
Item	Quantity	Price	Extension	Price	Price
=======================================	•				
50771.0 - INTERNAL CHIMNEY					
SEALS - EACH	\$4.00	\$398.00	\$1,592.00	\$400.00	\$410.00
50780.0 -					
CLEANOUT(UNDISTRIBUTED) -					
EACH	\$1.00	\$444.00	\$444.00	\$450.00	\$670.00
50791.0 - SANITARY SEWER TAP -	<b>#0.00</b>	<b>\$740.00</b>	<b>#F 000 00</b>	<b>#4.000.00</b>	<b>#0.000.00</b>
EACH 50801.0 - UTILITY LINE OPENING -	\$8.00	\$749.00	\$5,992.00	\$1,000.00	\$2,300.00
EACH	\$5.00	\$480.00	\$2,400.00	\$500.00	\$630.00
50202.0 - TYPE 2 DEWATERING -	ψ3.00	Ψ-00.00	Ψ2,400.00	ψ300.00	ψ030.00
LUMP SUM	\$1.00	\$100.00	\$100.00	\$600.00	\$500.00
90070.0 - BORE AND JACK 18"	•	•	,	•	******
DIAMETER SANITARY SEWER -					
L.F.	\$250.00	\$446.00	\$111,500.00	\$560.00	\$700.00
90071.0 - SLURRY BACKFILL					
(UNDISTRIBUTED) - T.F.	\$50.00	\$37.50	\$1,875.00	\$150.00	\$15.00
90072.0 - WASTEWATER CONTROL - HEAVY FLOW - LUMP					
SUM	\$1.00	\$11,800.00	\$11,800.00	\$5,000.00	\$9,800.00
90073.0 - CONSTRUCTION	Ψ1.00	ψ11,000.00	ψ11,000.00	ψ3,000.00	ψ9,000.00
FENCING - L.F.	\$120.00	\$7.50	\$900.00	\$3.00	\$7.20
90074.0 - CRACK AND DAMAGE					
SURVEY - EACH	\$2.00	\$780.00	\$1,560.00	\$1,000.00	\$1,200.00
10703.0 - TRAFFIC CONTROL FOR					
WATER MAIN INSTALLATION -	<b>#</b> 4.00	<b>4550.00</b>	<b>#</b> 550.00	<b>#0.500.00</b>	<b>A</b> 000 00
LUMP SUM 10913.0 - MOBILIZATION FOR	\$1.00	\$550.00	\$550.00	\$2,500.00	\$930.00
WATER MAIN INSTALLATION -					
LUMP SUM	\$1.00	\$5,700.00	\$5,700.00	\$2,000.00	\$31,900.00
70001.0 - FURNISH AND INSTALL 4	******	<b>4</b> 2,1222	40,100100	<del>-</del> ,	***************************************
INCH PIPE & FITTINGS - L.F.	\$80.00	\$91.00	\$7,280.00	\$90.00	\$120.00
70002.0 - FURNISH AND INSTALL 6					
INCH PIPE & FITTINGS - L.F.	\$120.00	\$75.00	\$9,000.00	\$95.00	\$88.00
70003.0 - FURNISH AND INSTALL 8	<b>#</b> 4 000 00	<b>#70.00</b>	<b>#05.040.00</b>	<b>#</b> 00.00	<b>#</b> 04.00
INCH PIPE & FITTINGS - L.F. 70404.0 - REMOVAL OF EXCESS	\$1,320.00	\$72.00	\$95,040.00	\$80.00	\$81.00
AMOUNTS OF BOULDERS - C.Y.	\$50.00	\$15.00	\$750.00	\$7.00	\$21.75
70405.0 - CUT-IN CONNECTION -	φου.σσ	ψ10.00	ψ100.00	Ψ1.00	Ψ21.70
EACH	\$3.00	\$1,477.00	\$4,431.00	\$1,500.00	\$1,800.00
70407.0 - FURNISH AND INSTALL					
HYDRANT - EACH	\$3.00	\$3,276.00	\$9,828.00	\$3,500.00	\$3,700.00
70408.0 - SELECT FILL - SAND					
FOR WATER - L.F.	\$1,520.00	\$0.10	\$152.00	\$0.10	\$1.00
70413.0 - FURNISH AND INSTALL STYROFOAM - L.F.	\$88.00	\$9.60	\$844.80	\$10.00	\$10.50
70414.0 - CUT OFF EXISTING	φοο.υυ	φ9.00	\$844.80	φ10.00	\$19.50
WATER MAIN - EACH	\$4.00	\$1,221.00	\$4,884.00	\$1,300.00	\$1,800.00
70415.0 - ABANDON WATER	•	* ,	, ,	* ,	* /
VALVE BOX - EACH	\$8.00	\$108.00	\$864.00	\$150.00	\$240.00
70416.0 - ABANDON HYDRANT -					
EACH	\$1.00	\$372.00	\$372.00	\$400.00	\$240.00
70418.0 - ADJUST WATER VALVE	<u></u> ቀኅ ኅኅ	<b>6400.00</b>	<b>\$0.40.00</b>	<b>6405.00</b>	<b>6040.00</b>
BOX - EACH	\$2.00	\$120.00	\$240.00	\$125.00	\$240.00

CONTRACT NO. 7042

		Capitol Unde	raround. Inc.	Speedway Sand & Gravel, Inc.	Parisi Constr. Co., Inc.
Item	Quantity	Price	Extension	Price	Price
	:======= :		========	=======================================	========
70424.0 - TERRACE RESTORATION FOR WATER MAIN					
- L.F. 70427.0 - FURNISH AND INSTALL 4	\$50.00	\$50.00	\$2,500.00	\$12.95	\$35.50
INCH VALVE - EACH 70428.0 - FURNISH AND INSTALL 6	\$2.00	\$1,249.00	\$2,498.00	\$1,300.00	\$2,200.00
INCH VALVE - EACH 70429.0 - FURNISH AND INSTALL 8	\$5.00	\$1,376.00	\$6,880.00	\$1,600.00	\$2,300.00
INCH VALVE - EACH 70440.0 - EXTEND AND	\$7.00	\$1,650.00	\$11,550.00	\$2,000.00	\$2,600.00
RECONNECT SERVICE LATERAL - 1 INCH - L.F.	\$160.00	\$49.00	\$7,840.00	\$79.00	\$93.00
70446.0 - REPLACE 1-IN COPPER SERVICE LATERAL - L.F.	\$100.00	\$64.00	\$6,400.00	\$84.00	\$110.00
70455.0 - PIPE PLUG FOR WATER MAIN INSTALLATION - EACH	\$2.00	\$470.00	\$940.00	\$500.00	\$430.00
70456.0 - FURNISH EXCAVATION AND DITCH FOR LIVE TAP - EACH	\$2.00	\$1,028.00	\$2,056.00	\$1,200.00	\$1,800.00
40382.0 - REMOVE AND REPLACE CURB AND GUTTER, HAND PLACED - RESURFACING - L.F.	\$1,420.00	\$30.00	\$42,600.00	\$29.00	\$51.00
50225.0 - UTILITY TRENCH PATCH TYPE III (DENNETT) - T.F.	\$306.00	\$28.50	\$8,721.00	\$22.00	\$34.00
CONTRACT TOTALS			\$ 1,013,256.45	\$1,023,732.25	\$1,412,403.00